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QUESTION 1

What is the notation for a provided interface?

0

e e -

mo o ® »
L

<>

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Correct Answer: A

QUESTION 2

In the exhibit, there is one element with the identifier b. is true about this element?
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sdi

a:C1 h:C2

SRR, SRR, Mt

A.bis aclass.

B. b is of the type C2.

C. b is defined local to M.

D. b is contained in class C2.

E. b must be a property of a composite structure.

Correct Answer: B

QUESTION 3

In the exhibit, which use cases must be available to meet the goals of Actor X when it initiates Use Case A? ose 2)

A. Use Case A

B. Use Case B
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C.Use Case C
D. Use Case D
E. Use Case E

Correct Answer: AB

QUESTION 4

What are two kinds of pins in activity diagrams?
A. in and out

B. entry and exit

C. read and update

D. input and output

Correct Answer: D

QUESTION 5

An activity is what kind of element?
A. action

B. method

C. behavior

D. collaboration

E. state machine

Correct Answer: C
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